




























LE
G

E
N

D
A
:

1
 istn

ie
ją

ca
 w

ie
żo

w
a
 s ta

cja
 tra

n
sfo

rm
a
to

ro
w

a
 W

R
O

1
4
9
5

2
 istn

ie
ją

ca
 lin

ia
 n

a
p
o
w

ie
trzn

a
 S

N
 2

0
k V

 L-1
5
1
 A

F
L-6

 3
x5

0

  (p
rzyj ę

to
: m

a
x. n

a
p
rę

że
n
ie

 p
rze

w
o
d
ó
w

 lin
ii 9

0
 M

P
a
;

   n
a
cią

g
 n

a
 3

 p
rze

w
o
d
y 1

5
2
0
 d

a
N

 typ
 lin

ii L2
5
,

   u
kła

d
 p

rze
w

o
d
ó
w

 p
ł a

ski kie
ru

n
e
k G

P
Z
)

  (p
rzyj ę

to
: zm

n
ie

jszo
n
e
 n

a
p
rę

że
n
ie

 p
rze

w
o
d
ó
w

 lin
ii 8

5
 M

P
a
;

   n
a
cią

g
 n

a
 3

 p
rze

w
o
d
y 1

4
4
0
 d

a
N

 typ
 lin

ii L2
5
,

   u
kła

d
 p

rze
w

o
d
ó
w

 p
ł a

ski kie
ru

n
e
k B

ych
o
w

o
)

3
 istn

ie
ją

ca
 lin

ia
 ka

b
lo

w
a
 S

N
 2

0
kV

 typ
u
 H

A
K
n
F
tA

 3
x1

2
0
 m

m
²

4
 p

ro
je

kto
w

a
n
y słu

p
 li n

ii n
a
p
o
w

ie
trzn

e
j S

N
 2

0
kV

   typ
u
 K

g
o
 E

M
-1

3
,5

/1
7
,5

 z ro
złą

czn
ik ie

m

   typ
u
 R

N
 III 2

4
/4

 - S
 o

ra
z ko

m
p
le

te
m

   o
g
ra

n
iczn

ikó
w

 p
rze

p
ię

ć typ
u
 P

O
LIM

 D
2
4
N

5
 p

ro
je

kto
w

a
n
a
 m

u
fa

 k a
b
lo

w
a
 p

rze
jśc io

w
a
 S

N
 2

0
kV

  typ
u
 C

E
LLP

A
C
K
 C

H
M

P
(H

)S
V
 3

-1
 2

4
k V

 9
5
-2

4
0
/P

L

6
 p

ro
je

kto
w

a
n
e
 złą

cze
 ka

b
lo

w
e
 2

0
kV

 Z
K
-S

N
/T

P
M

-4
/T

LLL

7
 p

ro
je

kto
w

a
n
a
 lin

ia
 ka

b
lo

w
a
 S

N
 2

0
kV

 n
r 1

   typ
u
 X

R
U

H
A
K
X
S
 3

x1
x1

2
0
 m

m
2
 l =

 2
0
5
m

   (d
łu

g
o
ść ka

b
la

 w
 rzu

cie
 p

o
zio

m
ym

 w
yn

o
si 1

7
7
m

)

8
 p

ro
je

kto
w

a
n
a
 lin

ia
 ka

b
lo

w
a
 S

N
 2

0
kV

 n
r 2

   typ
u
 X

R
U

H
A
K
X
S
 3

x1
x1

2
0
 m

m
2
 l =

 7
2
6
m

   (d
łu

g
o
ść ka

b
la

 w
 rzu

cie
 p

o
zio

m
ym

 w
yn

o
si 6

7
8
m

)

9
 p

ro
je

kto
w

a
n
a
 lin

ia
 ka

b
lo

w
a
 S

N
 2

0
kV

 n
r 3

   typ
u
 X

R
U

H
A
K
X
S
 3

x1
x1

2
0
 m

m
2
 l =

 4
1
3
m

   (d
łu

g
o
ść ka

b
la

 w
 rzu

cie
 p

o
zio

m
ym

 w
yn

o
si 3

8
3
m

)

1
0
 p

ro
j e

kto
w

a
n
a
 lin

ia
 ka

b
lo

w
a
 S

N
 2

0
k V

 n
r 4

    typ
u
 X

R
U

H
A
K
X
S
 3

x1
x1

2
0
 m

m
2
 l =

 1
6
m

   (d
łu

g
o
ść ka

b
la

 w
 rzu

cie
 p

o
zio

m
ym

 w
yn

o
si 8

m
)

1
1
 p

ro
j e

kto
w

a
n
a
 ru

ra
 o

sło
n
o
w

a
 A

R
O

T
 D

V
K
 1

6
0

1
2
 p

rze
jście

 ka
b
li p

o
d
 u

tw
a
rd

zo
n
ym

i d
ro

g
a
m

i w
 ru

ra
ch

    o
sło

n
o
w

ych
 A

R
O

T
 S

R
S
 1

6
0
 p

rze
cis kie

m

1
3
 istn

i e
ją

ca
 lin

ia
 n

a
p
o
w

ie
trzn

a
 S

N
 2

0
kV

 L-1
5
1
 d

o

    ro
zb

ió
rki w

ra
z z istn

ie
ją

cym
i słu

p
a
m

i i p
rze

w
o
d
a
m

i

    n
a
 o

d
cin

ku
 o

d
 p

ro
je

kto
w

a
n
ych

 słu
p
ó
w

    d
o
 is tn

ie
ją

ce
j sta

cji tra
n
sfo

rm
a
to

ro
w

e
j

1
4
 istn

i e
ją

ca
 lin

ia
 ka

b
lo

w
a
 S

N
 2

0
kV

 ty p
u
 H

A
K
n
F
tA

 3
x 1

2
0
 m

m
²

    d
o
 u

n
ie

czyn
n
ie

n
ia

 n
a
 o

d
cin

ku
 o

d
 p

ro
je

kto
w

a
n
e
j m

u
fy

    d
o
 d

e
m

o
n
to

w
a
n
e
g
o
 słu

p
a

1
5
 p

rze
jście

 ka
b
la

 p
o
d
 ka

n
a
łe

m
 S

ą
sie

czn
a
 w

 ru
rze

 o
s ło

n
o
w

e
j

    R
H

D
P
E
 1

6
0
 p

rze
w

ie
rte

m
 ste

ro
w

a
n
ym

 1
,5

 m
 p

o
d
 d

n
e
m

    ka
n
a
łu

 liczą
c o

d
 trw

a
łe

g
o
 d

n
a
 cie

k u
 (b

e
z n

a
m

u
łó

w
)

    d
o
 w

ie
rzch

u
 ru

ry o
s ło

n
o
w

e
j

za
się

g
 o

d
d
zia

ływ
a
n
ia

 i n
w

e
stycji
















































































